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3. The way in which two people feel and behave toward each other. a. custom
4. traditional or usual things that people do in an area. b. available

c. relationship
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Questions T
Vocabulary 4
Match the pictures with the sentences. 0.5
(a) (b)

1. Can you read that beautiful calligraphy? ()

2. 1 go out and jog every morning. ()

Match the words with the definitions. (One word is extra) 05

Fill in the blanks with the words given. (There is one word extra)

bored / enable / knowledge / gained / caused
5. The children quickly got ................. with the movie and left the cinema.
6.Hehas ............ a lot of weight in the last few months.
7. The bad weather ................. serious problems for many farmers.
8. The information skill and understanding that you have gained by learning or experiencing
ISyour ................. .

Fill in the blank with the proper word of your own.
9. Painting , music , carpet , and tilework are different kinds of ...................... .

0.5

Choose the best answer .

10. Do you know John’s father died ofa ................. attack?

a. healthy b. blood c. heart d. calm
11. Are youstill ............... the bags ? Haven’t you finished yet?

a. meeting b. gaining c. climbing d. packing

0.5
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Grammar 3
F Choose the correct answer. 1
12. 1 have lived in Tehran ........... I left shiraz.
a. since b. for c. from d. after
13. What are you going to do after ............... your homework?
a. does b. doing c.todo d. did
G Put the words in the correct order. 1
14. months / a book / for / some of / haven’t / the students / read.
H Match the items in A with the items in B . There is one extra item in B. 1

A B

15. Why do you watch so much TV?
16. Why are you getting fat?

a. Yes, it is my uncle’s.

b. I’'m a couch potato.

c. I haven’t exercised for a long time.

Pronunciation

Which one is different in stress pattern? 0.5
17.a. turn on b. ask for C. go away d. wake up

Cloze test

Choose the best item. 1

South Africa has one of the world’s worst education system. A reason for the bad education

in Africa is that they don’t have (18)................ to good schools. It is hard for many
schools in Africa to find good teachers and (19)............. the fact that students like to study,
education is not available for them. The standards at schools are not good and there are many
students in each class. Actually many (20)............... people in Africa learn things for their
own (21)................ . Their parents teach them a lot of things.

18. a. access b. mistake C. means d. matter

19. a. instead b. mainly C. nearly d. despite

20. a. native b. tiny C. deaf d. similar

21. a. experience b. exchange c. relation d. action
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In 1998 the Rover company’s Land Rover , one of the most famous cars in the world ,
celebrated its 50th birthday . But not many people know that its success was a surprise to the
company . The idea was born when the Wilk’s brothers , who lived on the Welsh Island of
Anglesey , wanted a cheap but strong vehicle to travel around their farm . They copied the
design of the American “Willy’s Jeep” . At that time the Rover car company had problems .
In Britain after the war , people did not have enough money to buy Rover’s luxury cars , so
the company decided to use the Wilk’s brothers’ idea to make a little money for a few years .
Cars are usually made of steel but this was very costly than , so Rover used aluminum ,
which was cheaper . There was a lot of aluminum because war planes were made of it . The
design was very basic and uncomfortable , but strong — “a tractor with passenger seat !”
When the first Land Rover was shown to the world at the Amsterdam Motor show in 1948 , it
was an instant success. It was perfect for farmers and building companies because it could go
to places where no other car could go . Because of Land Rover , the Rover company became
stronger and started producing luxury cars again . They listened to the customers’ idea , and
made changes to the design in 1958, 1972 and 1983 . It became more comfortable and safer ,
but could still take you over fields , up mountains , into rivers and across deserts.

Answer the following guestions

22. The Land Rover was first produced in ............. .

a. 1948 b. 1958 c. 197 d. 1998
23. The Wilks brothers needed a car likea Jeep .................. .

a. because it was more comfortable b. to travel around their farm

c. to make much money for a few years d. for the Amsterdam Motor show

24. According to the passage , the first Land Rover .............. :
a. was made of metal less expensive than steel
b. had a complex design like that of a plane
c. was both comfortable and cheap
d. could be used as a tractor on the farm

25. The underlined word costly is closest in meaning to ................ :
a. firm b. expensive c. flexible d. reasonable

True and False

26. Land Rover was a copy of Jeep at the beginning. (True / False)
27. Steel was more expensive than aluminum at that time. (True / False)
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Reading
Read the passage and answer the questions. 15

Total

10




